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Time: 3 hrs.
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2 1 a. Find the Fourier series o i : (06 Marks)
g
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_ ; b. Obtain Fourier half?%\ge sine series of f(x)= (07 Marks)
- ]
=
s &éf A : s
g’ c. ourier series of y upto second harmonics from the following table:
% T 6 [ 8 J10]12
‘ 9
(07 Marks)

ience deduce that

(07 Marks)

(06 Marks)

(07 Marks)

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

3 lace’s equation uy + uyy, = 0 by the method
of separatlon of variables. © (07 Marks)
lve the heat eg uﬁtliga = ¢ subject the conditions, u(0, t) = 0, u(10, t) = 0 and
{ in 0<x<5
(06 Marks)
10

c. i (07 Marks)

4 a
3 (06 Marks)
b. {4y subject to the constraints x + 2y > 10, x +y > 8,2x +y > 12,x 20,
ethod. (07 Marks)
¢. Maximize z 7@6XW+ 9y subject to the constraints 2x + 2y < 12, x + Sy < 44, 3x +y < 30,
x>0, y f () by applying simplex method. (07 Marks)
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PART — B :
Using Regula-falsi method find the real root of tanx +‘taphx = 0, which lies between 2 and 3
carryout three iterations. (06 Marks)
Apply Gauss-Seidel method to solve equatiof %x +y+z=31 2x + 8y ~z =24,
3x + 4y + 10z = 58. Perform four 1terat10ns - ® 4 (07 Marks)
Using Rayleigh power method find the@» t eigen value and the.'¢

6
vector of the matrix A=|-2

use [I 0 0] as initidl vector, carry out six

iterations.

marks:

0-20 | 20-40 | 40«60 | 60-80 | 80-100
41 @2 1 65 50 17 ,
' “« (06 Marks)

Use Lagrangg S mtéﬁxpolatlon formula to fmﬁ@@epolynomlal for the data:
( ) %0 01|34

: Ay -12(0(6]12
date y at x = 2. W% N (07 Marks)
Evaluate, IVI 8x’ dx by usm&g Slmpsons 3/8" rule, € 1g Si . (07 Marks)
0 W
Solve @ = 49—2— subjeéf to u(0, t) = Y ~ x(4 — x) by taking h = 1
o o VAR ~ : ’

k=05 upto four'«%teps (07 Marks)

=0 upto t = 5 by

(07 Marks)

oy
+ uyy = 0 in the fgﬁéwmg square reglon*‘ﬁ‘wnh the boundary conditions as indicated
m the figure: ﬂﬁ%ﬁ ; (06 Marks)

S00 o0 50

2.6 K Ua (o)

20 Ue, Uy o

Fig.Q.7(c)
Find the Z-transforms O%@hnﬁ and coshnb. (06 Marks)
- 27° +5 +14¢

If w(z)= - : ~~—. Find the values of ug, ui, uzand us. (07 Marks)
Solve the dlffémme equation Upz + 4up + 3u, = 3" with ug = 0 and u; = 1 by using
-transform ¢ (07 Marks)
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